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_ ESEESIES
== e oIA L2 (%)
ZAE (A HAUYIE 60% OlA) 0.3750
HHE =S 88 (A EXEHE 40% 0]5H) 0.4120
OlCl AS Sl (Al EXEHE 40% 0]5t) 0.2200
oA | AZASEE(FA EXSHE 40% 0151 0.4120
CETTIMHOEZEEE (A EXEHE 30% 0I5 0.1915
S2Y0|HZEEEE (HAFTA EXEIT 40% 0l5t) 0.3100
WF(H2 2 SS4 BHHIE 60% 014 0.1650
22YZAIS (G A HOHIE 60% 0| A) 0.5200
ZAE (A HAUYIE 60% OlA) 0.3000
BHE =S 8H8 (A EXEHE 40% 0]5tH) 0.1630
OICI AS Sl (Al EXEHE 40% 0] 5t) 0.1050
EXNLAU [DR2ASEE (A EXEHE 40% 0I5t) 0.1630
B2 |[MAMOEFSEE(FA SRS 30% 015}) 0.1335
22Y0|HEEE S (HATA EXEHE 40% 0I5H) 0.1050
MIF (2 2 SS4 BHIE 60% 04 0.0100
22YZAS (G FTA HAUHIE 60% 0| A) 0.0010
ZAE (A HAUYIE 60% OlAH) 0.0100
HHE =S 88 (A EXEHE 40% 0] 5tH) 0.0100
Ol ASBHE (Al EXEHE 40% 0I5}) 0.0100
e | A2 ABEE (A EXIEE 40% 015H) 0.0100
T T IMAEOEFTESE(FA EXEE 30% 016H) 0.0100
22Y0|HEEE S (HAA EXEHE 40% 0I5H) 0.0200
MWF(ZHR L SSA HHIE 60% 0lA) 0.0100
22HZAIS (G A HAUHIE 60% 0| A) 0.0200
ZAE (A HAUHIE 60% OlAH) 0.0150
HHE =S8 (A EXEHE 40% 0I5t) 0.0150
Ol ASBEHE (A EXEHE 40% 0I5}) 0.0150
A2 | D2ASEE (A EXEHE 40% 0161) 0.0150
B2 |[MAMOEFSEE(FA EXHE 30% 015}) 0.0150
S2Y0|IHZEEE (HAFTA EXEIT 40% 0l5t) 0.0150
MWF(ZHR 2 SSA HIHIE 60% 0l A) 0.0150
S22 FAE (G A HAUHIE 60% 0lA) 0.0150




30
OH

=
0

il
0F

T

N

JU

9]

Joll EX
AMSF2tel2 020

Ul

X1+ (H

PNE1I=
= e T

CHE

SHEO|

=3
—

e HeFAII+

J
E)
lIfy

Ol

)t SRItH

o0
H

4
iy

=1
I

<
3

Ol
LH
Gl

_—

Ol

o0

E)ol X

=Y

I

grol ek AL XA

gt

A0 A

0

40%

LA
10J

3

SN,

<

ke
0
il

o)

CF=X
o T

|.

2l 60% 01&), bH

H

Al
T T/

~
[

80

A
Al

® =

iy

i0J

Wk

<[
aly
180
0D

o)

ot), Az~

£ 40% Ol

t

__o._

=S\

<l
ly
160
0D

o)

al

ol

10

SN,

0
10D

i)

18>

X0
<0

FA

b,

o}

40% Ol

HeldlE 60%

o= M
TS o

al
=<

(XH =

b,

40% Olo

-
T

|,

£ Xt

A
Al

=
L

o
I

-
1o

60
10D

ur

O &

10

—_

<J
10D

crel e

=

HH,

o}

ot Al

[D

o & 0.35% (2 0.000958904%)5

JUJ
1
<F
<k

=N
<

JI
o)

10

e HtsSes20 HEstiA 28 FZeEL

—_

uJ
)

otHH,

<J

HO4

1o
Bl

| & 0.20% (& 0.000547945%) &

Ju
s}

10

PNPS|
=}

=2 20 M

i
|I=
<k
<F

i0J

b

A
(I

501

ofl KI' Al EK

= d3F0=

S
3

&N
<

JU
10

Cter, 20128 7& 25€ OI&GI Ol X

grol HSLICE.

201349 78 25K A=<l Het

o
j—

St
S



ol

ol
0K
K]

00
OH

Al

g

I+

00
OH

EY

Jl0

00
OH

ol

—_

<J

Ul
A

0

110

o
wr

ok

|
=
00
OH
RO

=
o

I

D

ol
X0

<0

HEOHLLA

2.

ulo

pay

(m]

ok
H
_r

Il
KJ
010
OH

5
0L

oJ

fif



= = o = =
Z=2 3HE SEHE 2ELH 2
FASE (A HAUH|IE 60% 0]4H)
(&2 &, %)
FY 2018 FY 2017 FY 2016
=) I &= 2 e
201801015 € 2017010152 € 20160101 €
201812317HXI 201712317t X 20161231794 Xl
= H2 | FAACY | BIRL 2,105,269,613 3,107,250,592 0,382,222,861
JIENE | FHESY | 2/1,000% 1104.97 1323.23 1055.98
TAHEH || RO 2,359,697,469 4,129,999,022 2,535,297,760
THtes ol 8t At
51012 -16.49 25.31 8.42
so8 sos
- 0,359,697,469 4,129,999,022 2.535,297,760
- (100.0) (100.0) (100.0)
_ 0 0 0
T
(0.0) (0.0) (0.0)
PATA SR 0 0 0
AT | FAl
2ug | N (0.0) (0.0) (0.0)
R 2,048,548,578 3,991,845,420 0,438,945,132
Lol=
(95.3) (96.7) (96.2)
- 111,148,891 138,153,602 96,352,628
=4 4
(4.7) (3.3) (3.8)
BHII2 | a2rE 10,203,530 13,780,674 9,456,611
Sogs =
slHoizy | 2xzs 0.70 0.70 0.70
F1) 2 AMPEET= 1812 ~ 128 312 D=0z HAEASLICH
F2) D =AY HEE= 201349 58 14201 & ™ & ASLICH
F3) A 22AF0| 0|2He) =2s BHGH=E 212 Ot LI



Big=See (=4 SXetE 40% 016t)

(&2l &, %)

FY 2018 FY 2017 FY 2016
& =2 J| &= b _
20180101 £ 201701015 H 2016010152 €
20181231 M}HAl 201712310t Xl 20161231 7tX
£ X4 | FANCY | FHDHS 13,863,059,763 12,890,316,447 13,396,945,179
JIZ=0HA | BIHHE Y | 21/1,000% 1138.29 1175.31 1077.75
RAEY | 5o CY o 16,013,009,047 15,445,331,390 14,610,442,395
otes SN,
31212+ -3.15 9.05 -5.81
»olg solg
- 16,013,009,047 15,445,331,390 14,610,442,395
- (100.0) (100.0) (100.0)
T 0 0 0
(0.0) (0.0) (0.0)
AN
NETE mese | =4 ° ° 0
o Hig (0.0) (0.0) (0.0)
or = 15,348,532,936 14,751,336,241 13,675,243,415
T (95.9) (95.5) (93.6)
: 664,476,111 693,995,149 935,198,980
SE4 4
(4.1) (4.5) (6.4)
AN | rr2EH 78,975,888 74,115,062 101,925,991
oA =
SHoCY | 2428 0.60 0.60 0.60

1) 2 AgEEE= 1
F2) )| HHg=sgd HE= 2
=3) &) 2EAH0| 0l +=2Us BEFHGl= R

006 12 320l & USLICH
telLICH



OILIASEIH(FA EXEE 40% O0laotH)
(&9 &, %)
FY 2018 FY 2017 FY 2016
& =2 J| &= b _
20180101 £ 201701015 H 2016010152 €
20181231 M}HAl 201712310t Xl 20161231 7tX
£ X4 | FANCY | FHDHS 4,650,809,225 5,329,895,887 4,392,861,375
JIZ=0HA | BIHHE Y | 21/1,000% 1183.02 1239.77 1130.9
RAEY | 5o CY ZhoH 5,599,973,244 6,830,989,845 5,104,581,733
otes SN,
31212+ -4.58 9.63 4.11
»olg solg
- 5599973244 6,830,989,845 5,104,581,733
- (100.0) (100.0) (100.0)
T 0 0 0
(0.0) (0.0) (0.0)
AN
NETE mese | =4 ° ° 0
o Hig (0.0) (0.0) (0.0)
or = 5,340,205,896 6,394,450,21 1 4,788,557,360
T (95.4) (93.6) (93.8)
: 259,767,348 436,539,634 316,024,373
SE4 4
(4.6) (6.4) (6.2)
AN | rr2EH 21,104,706 19,435,236 10,178,511
oA =
SHoCY | 2428 0.35 0.35 0.35

F1) 2 MQECTE 18 12 ~ 128 312 I F22 HHYSLUCH
F2) 40| QHUASEE HEE 20065 18 320 &FASLICH
%3) 401 2SAR0| 02 +24S 2Rk A2 OtgLICH



O2ASEHE (FA EXetE 40% OIotH)

(&2l &, %)

FY 2018 FY 2017 FY 2016
& =2 J| &= b _
20180101 £ 201701015 H 2016010152 €
20181231 M}HAl 201712310t Xl 20161231 7tX
£ H4 [ FANETY | MDA 1,459,403,161 2,017,311,067 1,901,114,215
JIEINA | BHATY | /1,000 1032.86 1102.74 1028.6
RAEY | 5o CY Rt oM 1,522,360,413 2,238,953,561 1,984,848,747
otes SN,
31212+ -6.34 7.21 3.09
»olg solg
- 1,522,360,413 2,238,953,561 1,984,848,747
- (100.0) (100.0) (100.0)
T 0 0 0
(0.0) (0.0) (0.0)
AN
Hee sHetEe | =Al 0 0 0
2 Hs (0.0) (0.0) (0.0)
. 1,464,688,270 2,159,493,957 1,872,014,093
Sol=R
(96.2) (96.5) (94.3)
: 57,672,143 79,459,604 112,834,654
SE4 4
(3.8) (3.5) (5.7)
AN | rr2EH 8,932,327 10,803,372 11,571,839
oA =
SHoCY | 2428 0.60 0.60 0.60
F) 2 AMEEETE= 1812 ~ 128 312 D=2 =2 S ASLICH
F2) A OZAEEE HEE 20104 58 320 S ARASLICH
F3) AD| 22AX| 02 &2 B&elsE A2 Ct.
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2ZY0IHEESE (=4 EXStE 40% Olot)
(&9 &, %)
FY 2018 FY 2017 FY 2016
& = I = b _
20180101 £ 201701015 H 2016010152 €
20181231 M}HAl 201712310t Xl 20161231 7tX
£ X% | FocY | HDFS 7,603,824,334 6.675,736,077 5,956,691,168
JIZEJ A | AT | 2/1,000% 1136.16 1171.0 1055.2
RAEY | 5o CY ZhoH 8,668,013,461 7,858,796,236 6,300,341,490
otes o1 8 AN
31212+ -2.98 10.97 0.73
»og sog
- 8,668,013,461 7,858,796,236 6,300,341,490
- (100.0) (100.0) (100.0)
- 0 0 0
;_]
M (0.0) (0.0) 0.0)
INFA SRS 0
_ 0 0
[ E ESIN
Qs | (0.0) (0.0) (0.0)
ol 8,418,159,371 7,562,977,468 6,149,496,481
Sol=R
(97.1) (96.2) (97.6)
- 249,854,090 295,818,768 150,845,009
SE4 4
(2.9) (3.8) (2.4)
SHINY | rLBEH 36,047,362 27,854,410 25,831,690
oA =
SHoCY | 2428 0.45 0.45 0.45
F1) 2 AMEEET= 1812 ~ 128 312 D|=0=2 AHHJASLICH
F2) A0 SRYU0HEEESEE HEE 20104 582 1020 2D JASLICH
%3) 40| SSAH0| 01O +2US B S oL LICH



7. WF(IHZ 2 s=s4d HHIE 60% 014

(&2l &, %)

FY 2018 FY 2017 FY 2016
& =2 = e 5
20180101 £ 201701015 H 2016010152 €
20181231 M}HAl 201712310t Xl 20161231 7tX
£ X4 | FANCY | FHDHS 3,851,012,526 3,647,309,983 3,669,022,647
JIZ=0HA | BIHHE Y | 21/1,000% 1136.19 1117.8 1103.46
KAESH |3 HHCY o 4,382,456,845 4,209,938,453 4,055,479,302
a2 SN,
51012 1.65 1.3 1.31
»olg solg
- 4,382,456,845 4,209,938,453 4,055,479,302
- (100.0) (100.0) (100.0)
. 0 0 0
?;]
M (0.0) (0.0) (0.0)
AF AN
NETE ) ecey | = ° 0 0
TR (0.0) (0.0) (0.0)
or = 4,342 ,265,298 4,013,824,048 3,983,709,227
T (99.1) (95.3) (98.2)
: 40,191,547 196,114,405 71,770,075
SE4 4
(0.9) (4.7) (1.8)
AN | rr2EH 8,476,482 8,009,102 7,584,949
2oL =
HEEY | 2228 0.20 0.20 0.20
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